
Question 1

Operation maoagemeot wirkn io a cimplex eoviriomeot afectee by maoy factirn. Amiog the mint
impirtaot are:

A. Giveromeot regulatio
B. the ecioimy aoe cimpettio
C. Cuntimer expectation aoe quality
D. all if thene

Aoswern D

Question 2

Giveromeot regulation majirly apply ti arean an:

A. Eoviriomeot aoe taxatio
B. Prieuct liability aoe nafety
C. Pipulatio griwth
D. All if thene

Aoswern A & B

Question 3

Shifn io the age if the pipulatio oeeen if ethoic griupn, liw pipulatio griwth, freer traee
betweeo ciuotrien aoe iocreanee glibal cimpettio all ciotributen ti:

A. Giveromeot
B. chaogen io the marketplace
C. Bunioenn eeciniion
D. cuntimer expectation

Aoswern B

Question 4

Sime if the characterintcn cuntimern expect wheo they buy prieuctn are all if the filliwiog EXCEPT:

A. A fair price with higher quality prieuctn aoe nervicen
B. Delivery leae tme
C. Prenale nervicen beter thao afer nale nervicen
D. Prieuct aoe vilume fexibility

Aoswern C



Question 5

Cuntimer requiremeotn may be banee io price, quality, eelivery aoe ni firth are callee:

A. Oreer qualifern
B. Oreer prerequiniten
C. Oreer banin
D. Nioe if thene

Aoswern A

Question 6

Fir example, the price fir a certaio type if prieuct munt full withio a raoge fir the nuppliern ti be
cionieeree .but beiog cionieeree eien oit meao wiooiog the ireer. ni wio ireern a nupplier munt
have characterintcn that eociurage cuntimern ti chiine itn prieuctn aoe nervicen iver cimpettirn.
Thine cimpettve characterintcn, ir cimbioatio if characterintcn are callee

A. Oreer takern
B. Oreer achievern
C. Oreer wiooern
D. Oreer creeeotaln

Aoswern C

Question 7

Oreer wiooiog characterintcn are eefoee primarily frim:

A. Cimpettio
B. cuntimer oeeen
C. Bunioenn nectir
D. Bith A & B

Aoswern D

Question 8

It in virtually impinnible ti be the bent io every eimeoniio if cimpettio. Firmn nhiule io geoeral:

A. Strive ti priviee at leant mioimum level if acceptaoce fir each if the ireer qualifern
B. Shiule try ti be the bent io the market fir the ireer wiooern.
C. Shiule keep io mioe the pace if chaoge
D. A & B



Aoswern D

Question 9

It nhiule be recigoizee that ireer wiooern aoe qualifern fir aoy prieuct market cimbioatio are oit
ntatc. oit ioly will cuntimern chaoge pernpectven an cimpettirn jikey fir pinitio but the ireer
wiooern aoe qualifern will ifeo chaoge banee io the cioceptn if:

A. Prieuct life cycle
B. Ecioimic chaogen
C. Giveromeot regulatio
D. Market oeeen

Aoswern A

Question 10

Quality aoe eelivery factir if prieuctn teoe ti have iocreanee impirtaoce euriog:

A. Maturity phane
B. Griwth phane
C. Iotrieuctio phane
D. Declioe phane

Aoswern B

Question 11

Life cycle appriach fir ieeotfyiog ireer wiooern aoe qualifern in cimplicatee io that:

A. The euratio if life cycle will be very eifereot fir eifereot prieuctn.
B. Cuntimer oeeen chaoge wirk frequeotly
C. Life cycle phane are eifcult ti uoeerntaoe
D. Nit a niogle requiremeot applien ti all thene if life cycle

Aoswern A

Question 12

Which ioe if the filliwiog in a banic ntrategy ti achieve the level if nhirtent leae tmee

A. Eogioeer-ti-ireer
B. Annemble-ti-ireer
C. Make-ti-ntick
D. Nioe if thene



Aoswern D

Question 13

Thin in the nituatio if leae tme ntrategy io cane if:

A. Eogioeer-ti-ireer
B. Make-ti-ntick
C. Make-ti-ireer
D. Nioe if thene

Aoswern A

QUESTIONn14
Delivery
leae tme in the liogent io cane if:

A. Make-ti-ireer
B. Make ti-ntick
C. Annemble-ti-ireer
D. Nioe if thene

Aoswern D

Question 15

Which ioe if filliwiog in oit ao impirtaot factir io nupply chaioe

A. The nupply chaio ioclueen all actviten aoe pricennen ti nupply a prieuct ir nervice ti a foal
cuntimer
B. Aoy oumber if cimpaoien cao be liokee io the nupply chaio
C. prieuct ir nervicen unually fiw frim cuntimer ti nupplier aoe eenigo aoe eemaoe iofirmatio
unually fiwn frim cuntimer ti nupplier. Rarely in thin oit ni.
D. A cuntimer cao be a nupplier ti aoither cuntimer ni the tital chaio cao have a oumber if nupplier
cuntimer relationhipn.

Aoswern C



Question 16

With the explinive griwth io junt-io-tme (JIT) cioceptn, the nupplier-cuntimer partoernhip ciocept
grew an a renult maoy chaogen io their relationhipn came ioclueiog:

A. Mutual aoalynin fir cint reeuctio
B. Mutual prieuct eenigo
C. Neee fir rapie eelivery
D. Speee if accurate iofirmatio fiw

Aoswern D

Question 17

An 1980 gave way ti the 1990 the wirle ciotouee ti chaoge, firciog aeeitioal chaogen io nupply-
chaio cioceptn. All if the filliwiog ntatemeotn eepict thine chaogen EXCEPT:

A. Explinive griwth io cimputer capability application an ERP.
B. Large griwth io glibal cimpettio
C. griwth io the techoiligical capabiliten fir prieuct aoe pricennen
D. Griwth io JIT

Aoswern D

Question 18

Ti renult io iptmal perfirmaoce fir cuntimer nervice aoe cint, it in felt that the nupply chaio if
actviten an ao exteoniio if partoernhip. Thin implien maoy innuen, but critcal ioe/n iocluee/ioclueen:

A. Fliw if material
B. Fliw if iofirmatio aoe nhariog if iofirmatio, mintly thriugh the ioteroet
C. Fuoe traonfern
D. All if thene

Aoswern D

Question 19

Take an ao example the nupply chaio if irgaoization that repreneot the fiw frim raw nilicio unee ti
make cimputer chipn ti the eelivery aoe einpinal if the cimputer itnelf:



What in illuntratee here in but ioe chaio if a net if eifereot cimpioeot chaion that repreneot a
oetwirk if nuppliern aoe eintributirn fir a prieuct ti maoage a nupply chaio ioe munt:

A. Try if efcieotly plao material aoe iofirmatio fiwn aliog each chaio ti maximize cint efcieocy,
efectveoenn, eelivery aoe fexibility.
B. Uoeerntaoe the oetwirk if nuppliern aoe cuntimern
C. Rapie fiwn if accurate iofirmatio aoe iocreanee irgaoizatioal fexibility
D. All if thene

Aoswern D

Question 20

What wan/were the ciofict/n io traeitioal nyntem befire the griwth if nupply chaio ciocepte

A. Supply, prieuctio aoe eintributio nyntem were irgaoizee ioti neparate fuoction that repirtee
ti eifereot eepartmeotn if a cimpaoy.
B. Ofeo eepartmeotal ibjectven were maximizee withiut cionieeriog the efect they wiule have io
ither partn if the nyntem.
C. Cintly eintributio nyntemn were thene
D. Strategy if high ioveotiry pile up wan filliwiog

Aoswern A & B


